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25< 125 =25% g? =25x25 =[625]
1. 25 divided by 1/25 is equal to:
2 1 b) 25 @ 625
2. The value of [(—3) — (+7)] = 5is: L—’S—?]-S =-10-5 = -15
) -1 15 o 25
3. 3x11-6+3-12=33—2—12 =31-92=19

a -7 b) -3 @ 19

4. The atithmetic mean of 12 numbers is 5. If two of the numbers are 5 and 7, what is the mean of the othet ten?
Y4hemeaniss of 12 num bers then the fokal of thase 12 pumbers woall loe 12x5260  5+7=12
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2 3> DI @ 22
8. 274000 is written in Standatd Form is: 2.14,;405
a)  27.4x10* 2.74 x 10° o 2.74x10°
9. 4x1075x5x 1073 x 5 x 108 is equal to: 4;(5;&5x40°‘-’;(463)‘ A0° = 100x40= 106" =10"=1
. 1 b) 25 x 1072 o 10
10. Which of the following is a prime number: Neone
Q) 49 b) 63 5000 o 91
11. 1f11b = 0.45 kg, then 90 kg is cquivalent to: %,.,e s - 200

) 100 1b 200lb 9 3001b

12. If £140 is divided in the ratio 2:5‘}"[hen the smaller shareis: 9245 =F shares
a) £20 m—%“ 20 foceo £40 The smell share o £100
woull be

ore
13. 2,3 and 7 are the factors of: 2x20=40
) 6 2x¥xF = 42 b 14 (©) 42
14. A triangle has an altitude of 60 mm and a base of 30 mm. Its area is not:
a) 1800mm? b) 9cm? ¢ 900mm?
15. (3x +5) — (—2x = 5) is equal to: 3Y4G +2¢+5=5A+10=5xH+5x2 =5x(2A+2)
) x b) 5x @ s@+2) =50+2)

TURN THE PAGE TO ANSWER THE REMAINING 5 QUESTIONS
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16. When c is made the subject of the formula dez = a?, the answer is : C= gi
Vi
c=% b = |& c= da?
‘/E ) c= b C) - b
17. The volume, in cubic centimetre, of a circular cylinder of radius 5 cm and height 50 cm is:
_ 2 -c2
» s00r V=T NT=5%50XT ) 750, @ 1250m
=isotr ")
18. Round off the decimal number expressed as o into three decimal Elaces?: +
) 0.703 0.704 24190 9 0.705
19. Correct 23.4547 to three significant figures : -is—?—o’o
2) 234 23.5 31 ¢ 23.500
o O e 9
20. What is the least common multiple (LCM) and highest common factor (HCF) of the numbers 15, 20 and 30 :
LLCM=60 and HCF=5 b) LCM=5 and HCF=60 ¢ LCM=60and HCF=10
15 30 45 pO|F5 30 105 12Q 135 1S5S0
20 46[6Y %6 40 M 140 160 450 200
30 30 A0 156 180 240 246 230 300
5 =3 BEST LUCK

20=2%2
20 243X



